Arithmetic Expressions in Java

Objectives

At the end of this exercise, students will: 

· Be able to evaluate the binary arithmetic expressions in Java.

· Be able to create arithmetic expressions in Java to solve arithmetically based problems.
Roles

· Coordinator – will make sure the team stays on task
· Presenter – will only be used if there is a question about your group’s responses
· Recorder – will write on the board the group answers to BOARD questions
· Reflector – if present will fill out the exit pass, otherwise, team members will do so
Getting ready

1. Coordinator, get ONE IF-AT form, enough copies of the quiz for your team, enough copies of the response sheets for your team, one copy of the exercise, one Exit Pass, and one paper clip.
2. All team members - record your notes on your own response sheet.

Initial Activity

1. Individually take the operations quiz.
2. As a group, compare answers and use the IF-AT form to scratch off the answer that the team wants to use.  

3. Each individual should grade their quiz based on the correct response revealed by the IF-AT.  Mark the top of the paper with the number of answers you got right. 

4. Coordinator – collect all of the quizzes and clip them together with the IF-AT form on top.  Make sure each individual quiz has a student’s name on it.

Code Review

Each person was to bring in a copy of their lab from Thursday.  Looking at code, reviewing code, critically thinking about code are all ways that programmers learn how to program.  In your groups, look at one another’s code and answer the following questions.

1. What is similar among all of the programs in the group?

2. What is different?

3. If you could identify one of the programs as the “best” which one would it be?  Why?

4. Trade your programs with another team?  Answer the three questions for that team’s code.

Intro to the switch statement and methods.
Study the following code.  In your group, come up with a few questions about this code and how it operates.  We will take the last 15 minutes of class to explore this code.
public class SwitchDemo
{
   public static void main(String[] args)
   {
      int number;       // A number entered by the user
          
      // Create a Scanner object for keyboard input.
      Scanner keyboard;
      
      keyboard = new Scanner(System.in);
      
      // Get one of the numbers 1, 2, or 3 from the user.
      System.out.print("Enter 1, 2, or 3: ");
      
      if(keyboard.hasNextInt())
         number = keyboard.nextInt();
      else
         number = catchError(keyboard.next());

      // Determine the number entered.
      switch (number)
      {
         case 1:
            easyPrint(1);
           break;
         case 2:
            easyPrint(2);
            break;
         case 3:
            easyPrint(3);
            break;
         default:
            System.out.println("That's not 1, 2, or 3!");
      }
   }
   /***********************************************
    * easy print is a method to demonstrate parameter passing
    *
    * @param choice The choice that the user makes
    ***********************************************/
   public static void easyPrint(int choice)
   {
      System.out.println("You entered " + choice);
   }
   /***********************************************
    * catchError is a method that prints an error message
    *
    * @param token The erroneous token entered
    * @return A default value if there is an error
    ***********************************************/
   public static int catchError(String token)
   {
      System.out.println("You entered " + token + ". That is WRONG.");
      System.out.println("Using 0.");
      return 0;
   }
}
Look at the code which checks to make sure the user has entered an int?  What do you think is happening when we call the catchError method?
Switch statements permit multiple choices based on one expression or value.





This is a method call.  We are calling easyPrint and passing it the value 1.


1 is the argument.





easyPrint is passed the value 1 which will be stored in the local variable, choice. Choice is a parameter of this method.
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